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Answers

A: Uganda

B: Kenya
C: Rwanda

D: South Africa

2 The total population of the world is over 7 billion people.
® 3 billion people in the world live on less than €2 per day.

An Irish dairy goat produces 5 litres of milk per day.

g_ CHINA KOSOVO GUATEMALA BANGLADESH BURKINA-FASO

Two goats and two camels: €1,000
Honeybees and two cows: €3,725
All four: €2,425
Change from €1,000: €75

The €4,350 that the lady willed to Béthar sponsored:
two cows, two lots of honeybees, one goat and one camel.

g Bothar cash income could buy:

= Food, clothing, medicine, education, better housing, transport (e.g. bicycle),
tools or equipment for farming, electrical goods like radios, ordinary things
like soap or toothpaste that we can take for granted, and many others...



